function [mat, var, skew, kurt, n8, n2, niL, n0] =t nonent s(t, f);

% renove background concentration
f=f-mn(f(:));

% ind first four nonents

for j=1:size(f,1);

no(j ) =0;

for i=1:size(f,2)-1
nO(j)=n0(j)+nean(mean(f(j,i:i+1))).*(t(i+1)-t(i));

end;

m(j ) =0;

for i=1:size(f,2)-1
mi(j)=mi(j)+(mean(t(i:i+1))).*mean(f(j,i:i+1)).*(t(i+1)-t(i));

end;

n2(j ) =0;

for i=1:size(f,2)-1
n2(j)=nm2(j)+(mean(t(i:i+1))). 2. *mean(f(j,i:i+1)).*(t(i+1)-t(i));
end;

nB(j ) =0;

for i=1:size(f,2)-1
nB(j)=nB(j)+(mean(t(i:i+1))). 3. *mean(f(j,i:i+1)).*(t(i+1l)-t(i));

end;

mi(j ) =0;

for i=1:size(f,2)-1
mA(j)=ma(j)+(mean(t(i:i+1))). M. *mean(f(j,i:i+1)).*(t(i+1)-t(i));

end;

end

% cal cul ate sem -invariants
mul=ml. / n0;
mu2=n?. / n0;
mu3=n8. / nD;
mud=md. / n0;

% estimte properties of interest

mat =nul; % nean arrival tine

var=sqrt(n2./nD - (ml./nD).”2); % plotting STANDARD DEVI ATI ON HERE
skew=nmu3. /mu2.7(3/2); % skewness (tailing)

kurt=mu4./nmu2.72; % kurtosis (peakedness)

Not enough input argunents.

Error in TenpMScript (line 4)
f=f-mn(f(:));
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